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FEORR
5 1.49 31 32
& 1%
6 1.35 30 25
7 1.78 31 38
8 1.44 31 31
9 1.22 30 33
@7 3% i COP:5.2
®E k4 :17.2 M /kWh
@k H 7% %2:0.475 t-CO2/ T kWh
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WHEMOEBNLOR NEVEIX
I (H g & xEHs 0 = 7 =R)=72.2kWh/m?
H A 325 3 200 R 1, R N B B X R R XA S R i £ A oD =
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W7 4L D I 72.2kWh/m?x1.5mx6mx10x (0.97 —0.41) =3.64 T-kWh
W7 ANV B+T TALR 72.2kWh/m?x1.5mx6mx10x (0.97 —0.22) =4.87 T kWh
th 2k iR BE 1k EAR RIS =4
X K B B W7 4L D T 3.64TkWh,5.2=0.70 T kWh

W T 4N b+TTA R 4.87FkWh,/5.2=0.94 T-kWh
(HIB & %E)

WS T 4L LD T 0.70 TkWhx17.2 /kWh=12.0T 9
WS T AV 2+TTAR 0.94FTkWhx17.2 /kWh=16.2F [1]
(HlR Cco, &)
WS T 4L LD T 0.70FkWhx0.475 t-CO,»/FkWh=0.3 t-CO;
WS T AV +TTAR 0.94 F kWhx0.475 t-CO,/F kWh=0.4 t-COQ,




